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ERERENET, £EBAEFERTHARMNERYE, SERIIREIENMIBT RAER.
HAP@BIMIBIERIMACKIRIEEE N, XEFENAS7500EBIIMIBIEEIMACHBIEAYS %, SIEE
EREOMREEO.

SeXHEIIMIBIEEE B CIMACTERRI 5 R TN A

Zdot1qTpFdbEntry, 1.3.6.1.2.1.17.7.1.2.2.1, B&MACERRAVanZE, ZRESUT=
MR

/Mo

dot1qTpFdbAddress | MACHEHE (AREEIRENTS saf{E) 1.3.6.1.2.1.17.7.1.22.11

dot1qTpFdbPort MACHEHESS RIAYi7 O 1.3.6.1.21.17.71.2.2.1.2
dot1qTpFdbStatus MACEIAIRZS 1.3.6.1.2.1.17.7.1.221.3
+-[] dotlqBase ;I
1t T — SNMP OUERY STARTED ===
+1- (3 dotqFdbT able 1: dot1qTpFdbPort.1.0.35.137. 20.251.214 [integer] 216
g 2 dot1qTpFdbPart.1.0.35.137. 20.252.5 [integer) 216
=13 datiaTpFdbT able 3 dot1qT pFdbStatus.1.0.35.137.20.251.214 [integer] leamed(3]
=425 dot1qT pFdbE ntry 4: dot1qT pFdbStatus.1.0.35.137 20,262 5 [integer| leamed(3)
0 dot1gT pFdbéddress i"""‘" SHMP QUERY FIMISHED ===

0 dot1qT pFdbPort
& dot1qTpFdbStatus
+-[23 det1gTpGroupT able
+-(Z3 dotlgFanwarddIT able
+-[23 detlgForwardUnregisteredT able
+-[C] dat1g5tatic |

NFmZRS skEEEvIanfE 8., FIan_ EEHaY:
1: dot1qTpFdbPort.1.0.35.137.20.251.214 (integer) 216

F5|FEEHEERvian 1, MACHEE"0.35.137.20.251.214", X$[0023-8914-fbd6,

216f{ZKportifindex, EE TETRASE index 216

90: hh3cLswPortlfindex.0.4.0.216 (integer) 61

BEAER, BRKOSR

61: ifDescr.61 (octet string) GigabitEthernet4/0/24 [47.69.67.61.62.69.74.45.74.68.65.72.6
E.65.74.34.2F.30.2F.32.34 (hex)]

EREREONMACS EIMBERREIING:

(1) ZRBXMACFR#Eportindex, BldotiqTpFdbPortTiss;

(2) RIBE—HEEIRdot1dBasePortTable RAIZRS|, #Biddot1dBasePortlfindex ELHe3RENfi
ndex, XM HRLAAOMRESOZ2EARY;

(3) RiBifindexiSRIHORA,

RS ORNMACEERRILLRY, EiREBARE, XEBEERNEENRSOMACHEKE
1.

(1) BERBVACEIER, 1LL0023-896a-208c/34l

dis MAC-address

MAC ADDR VLAN ID STATE PORT INDEX  AGING TIME(s)

000c-29a9-0b49 1 Learned GigabitEthernet4/0/1  AGING

0023-896a-208b 1 Learned Bridge-Aggregation1  AGING

0023-896a-208c 1 Learned Bridge-Aggregation1  AGING

0023-896a-208e 1 Learned Bridge-Aggregation1  AGING

8434-9720-7018 1 Learned GigabitEthernet4/0/1  AGING

(2) FXEYMACHT#Eportindex, BPdotiqTpFdoPortTisx (OID: 1.3.6.1.2.1.17.7.1.2.2.1.2.0)

-1-[Z3 dotqTpFdbT able

dot1qT pFdbE ntry

@ dot1qTpFdbéddress
@ dot1gT pFdbPort
@ dot1qT pFdbStatus

Query results

***** SHMP QUERY STARTED ===
1: dot1qTpFdbPort.1.0.12.41.169.11.73 [intx_ager] 268

3: dot1 T pFdbPort.1.0.35.137.106.32.140 [integer] 331

5: dot1qTpFdbPort 1.132.52.151.32.112.24 finteger] 263
***** SHMP QUERY FINISHED ===

.

R |HEESRSERvian 1, MACHLRE"0.35.137.106.32.140", XJK70023-896a-208c, IEBILIEE
HNdot1qTpFdbPortfkEVHF BEMACHBIEAdot1 dBasePortlfindexZ 35 |9891,

(3) 1RIBL—$3K18H9%2 |dot1dBasePortlfindex (OID: 1.3.6.1.2.1.17.1.4.1.2.0) %289
1, BE#FREfindex,


https://zhiliao.h3c.com/questions/catesDis/351
https://zhiliao.h3c.com/User/other/420

MIE tree

dot1dB azePortEntry
» dot1dE asePort

0 dot1 dB asePortCircuit
0 dot1dB asePortD elayE veeededDizcards
| 0 dot] dB asePorttd tuE seeededDiscards

T

Luery results

51: dot1dBazePortfindex. 318 [integer) 138
52: dot1dBazePortfindex. 319 [integer) 139
B3 dot1dB asePartifindes. 320 (integer] 140
54: dot1dBazePortlfindex. 321 [integer) 141
55 dot‘l dBaseF‘ortIfIndex 322 [|nteger] 1 42

aJ{8ifindex /93,
(4) tR#Eifindex (OID: 1.0.8802.17.1.1.1.1.1.1.1.0) 3{ERiHOHHA
&y itumber
-1-[23 IfTable
Query results

s ShMP QUERY STARTED ===
s ifDescr1 [ocket stnng] Wlar-interface1 [56.6C.61.6E.2D B9.6E.74.65.72 66.61.63.65.31 [hex]]
2 2 [octet shing] Viar-interface20 [56.6C.61.6E.2D B3.6E . 74.65. 72 66.61.63.65. 3230 [hex

s D escr. 3 [octel sting| Endge-Aggregation

S e (o= | WAL e L £l [nexu
ifDescr. 58 [octet sting] Wan-interface10 [56.6C.61.6E.20.69.6E.74.65.72.66.61 63.65.31.30 [hex]]

ifDescr.53 [octet sting) GigabitEthernet4/0/1 [47. 63,67 61.62.69.74.45.74.68.65.72 BE.65.74.34.2F 30.2F 31 [hex]]
ifDescr. B0 [octet sting) GigabitE themet4/0/2 [47 69.67 61.62.69.74.45.74 68.65.72. 6E.65.74.34. 2F 30.2F.32 [hex]]

TRYEifindex SRYRMAYIHOFHARIR], ZMACHEUEZEREH,

"H‘C‘"U‘
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